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250 75, 200 112, 800 79, 900 119, 800
300 77, 800 116, 700 84, 400 126, 600
350 86, 000 129, 000 92, 800 139, 200
400 90, 600 135, 900 97, 600 146, 400
450 99, 400 149, 100 108, 200 162, 300
500 106, 000 159, 000 115, 000 172, 500
600 170, 400 255, 600 187, 600 281, 400
700 202, 700 304, 000 215, 400 323, 100
800 269, 000 403, 500 305, 300 457, 900
900 287, 000 430, 500 322, 400 483, 600
1000 330, 800 496, 200 393, 700 590, 500
1100 344, 100 516, 100 419, 700 629, 500
1200 367, 800 551, 700 444, 800 667, 200
1350 387, 300 580, 900 476, 300 714, 400
1500 406, 700 610, 000 504, 900 757, 300
1650 467, 400 701, 100 564, 300 846, 400
1800 520, 600 780, 900 609, 000 913, 500
2000 577, 600 866, 400 680, 200 1, 020, 300
2200 671, 700 1, 007, 500 733, 400 1, 100, 100
2400 719, 200 1, 078, 800 781, 900 1,172, 800
2600 781, 900 1,172, 800 873, 100 1, 309, 600
2800 909, 200 1, 363, 800 969, 000 1, 453, 500
3000 978, 500 1, 467, 700 1, 045, 000 1, 567, 500
V200 70, 500 105, 700 75, 600 113, 400
V250 72, 200 108, 300 77, 300 116, 000
V30O 73, 100 109, 600 78, 200 117, 300
V350 75, 200 112, 800 79, 900 119, 900
V400 77, 800 116, 700 84, 400 126, 600
V450 86, 000 129, 000 92, 800 139, 200
V500 90, 600 135, 900 97, 600 146, 400

¥ EELIEKEROMFE L, HEEE L0 DN IomfREEZ L L, ZLUED T 0 o413

Bk e 4%,

15

)



Ty v 7 N ' — v T Y
THFES i L 2%

447 (A7 [ /AKX nK)

IIRONES 200 250 300 350
SERERY (K) — 2,040% 3 2,040% 3 2,040% 3
FEIARIL b () 1,530% 12 1,790X 8 1, 790X 9 1,790 X 12
FEIAR NV b (OK) — — — 1,790 X 32
SEIREARY (K) 1,360%X 3 1,360X 6 1,360X 6 1,360X 6
OV 7 (K) 1,360X 1 5, 780X 2 6, 040X 2 6,290 X 2
oVy7 (K) 2,980 1 — — —
oOVy7 (K) 2,980 1 — — —
my N Y= ks (AR) 770X 4 1,100X 2 1,100X 2 1,100X 2
my b= vy (OR) 770X 2 — — —
HEER 2™ Ml () 1,190% 1 1,450 % 1 1,700% 1 1,960 % 1

IIRONES 400 450 500
SERERY (K) 2,380% 3 2, 720X 3 3,200% 3
AR L b () 1,790 X 12 2,130X12 2,500X 12
AR L b () 1, 790 X 32 1, 790 X 36 2,100 36
SEIRER Y (K) 2,040X 6 2,040X 6 2,400X 6
oV (K) 6, 550X 2 6, 800X 2 8, 300X 2
my N Y= ks () 1,100X 2 1,100X 2 1,100X 2
HEMESS 2 Mty () 2,210% 1 2,550% 1 2,550% 1
347 (A7 ARX nA)

IIRONES 600 700
SERERY (K) 3,570X 3 3,910X 4
SERERY (K) 3,570X 6 3,570X 6
FIAR LV b (K) 2,210%12 2,720X 8
FIAR LV B (K) 2,210% 14 2,720 X 14
FIAR LV B (K) — 2,210X 9
oV v7 (&) 7,230X 1 7,650X 1
oV v7 (&) 7,480 X 2 7,900X 2
oV (K) 90X 2 150X 2
my N Y= ks () 1,700 X 4 1,700 X 4
HEXEE ]2 My () 3,060X 1 3,490% 1
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247 (A7 [ AKX nK)
IIRONES 200 250 300 350
SERERY (K) — — — —
FIAR LV b (K) 1,530X 6 — — 2, 100X 16
SEIRERY (K) — 1,360X 3 1,360X 3 1,360X 3
oV (K) 2,980 1 5, 780X 1 6,040X 1 6,290X 1
OV 7 (K) — — — —
my N Y= vk () 770X 2 1,100X 2 1,100X 2 1,100X 2
HEMER 2™ Ml (OK) 1,190% 1 1,450 % 1 1,700% 1 1,960 % 1
IIRONES 400 450 500 600
SERERY (K) — — — 3,570X 6
FIAR LV b (K) 1,790 X 16 1790 X 18 1790 X 18 2,210% 14
SEIRER Y (K) 2,040X 3 2,040% 3 2,040% 3 —
oV (K) 6, 550X 1 6, 800X 1 7,060 X 1 7,230 % 1
oOVy7 (K) — — — 90X 2
my N Y= ks () 1,100X 2 1,100X 2 1,100X 2 1,700X 2
HEMEAS 2 Ml () 2,210X 1 2,550%X 1 2,810%X 1 3,060%X 1
IIRONES 700 800 900 1000
SERERY (K) 3,910X 6 3,910X 7 4,080 % 7 4,250% 7
AR L b () 2, 720X 14 2,720X 12 2,720 X 14 2,720X 16
SEIRER Y (K) — — — —
oV (K) 7,650 % 1 8,080X 1 8, 500X 1 8,930 1
oV (K) 150X 2 150X 2 150X 2 270X 2
my N Y= ks () 1,700X 2 1,700X 2 1,700X 2 3,060X 2
HEMERS 2" Ml () 3,490 X 1 3,910X 1 4,340% 1 4,760% 1
IIRONES 1100 1200 1350 1500
SERERY (K) 4,250X 7 4,590 X 6 4,590 X 6 4,930 X 6
AR L b () 2,720X 16 3,320X 16 3, 320X 16 3, 320 X 24
SEIRER Y (K) — — — —
oV (K) 9,350X 1 9, 780X 1 10,200 X 1 10, 630X 1
oV (K) 270X 2 270X 2 270X 2 —
my N Y= ks () 3,060X 2 3,060X 2 3,060X 2 —
HEMER 2™ Ml () 5,190 X 1 5,610X 1 6,040 X 1 6, 460X 1
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vy MikgE (77 vE—1)

(BAZ - 1T A X n )

OV Bod=t"y b (fE) G ER -y (i) th=hyh-tTy b ()
200 22,400X 5 51,500X 2 22,500X 3
250 31,500X 4 29, 250X 2 28,100 X 2
300 31,500X 4 29, 250X 2 28,100 X 2
350 39, 750X 4 42,750 X 2 36, 000X 3
400 39, 750X 5 42, 750X 2 36, 000X 3
450 45, 000X 4 48, 750X 2 43,500 X 2
500 45, 000X 5 48, 750X 2 43,500 X 2
600 51, 700 X 11 97,500 X 2 —
700 51, 700 X 13 97,500 X 2 —
800 54, 000X 13 148, 000 X 2 —
900 54, 000 X 15 148, 000X 2 —
1000 74, 200 X 16 172,000X 2 —
1100 74, 200 X 17 172,000 X 2 —
1200 85, 500 X 17 172,000 X 2 —
1350 85, 500X 19 172,000 X 2 —
1500 85, 500 X 15 172,000 X 12 85, 500X 3
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T v ) ' — N I = T E
THFESS i LM 2%
453 (BAE . [ /AX nA)
IIRONES 200 250 300
SERERY (K) — 2,040% 3 2,040% 3
FEIARIL b () — 1, 790X 9 1,790X 9
FIAR LV b (K) 1,530 12 2,130%x12 2, 130X 12
SEIRERY (K) 1,360X 3 — —
oV (K) 1,360X 1 1,190 X 1 1,280% 1
oV (K) 2,980 1 2,980 1 2,980 1
oV (K) 2,980 1 2,980 1 3,230% 1
my N Y= ks (AR) 770X 4 1,110X 4 1,110X 4
my N Y= vk () 770X 2 1,110X 2 1,110X 2
HEVEAE ]2 My (A) 1,190 X 1 1,450 X 1 1,700X 1
347 (A7 [/ ARX nK)
IIRONES 350 400 450 500
SERERY (K) 2,040%X 3 2,380% 3 2,720X 3 2,720X 3
FIAR LV b (K) 1,790 X 12 1,790 X 12 2,130%x12 2,130%X12
FIAR LV b (K) 10, 200X 4 10, 200X 6 10, 200X 6 10, 200X 6
SEIRER Y (K) — — — —
oV (K) 2,980 1 2,980 1 3,230% 1 3,230% 1
oV (K) 130X 2 130X 2 130X 2 130X 2
oV (K) 3,230% 1 3,230% 1 3570 X 1 3570 X 1
oV (K) 130X 4 130X 6 130X 6 130X 6
my N Y= ks () 1,190X 2 1,190X 2 1,190X 2 1,190X 2
ny b Y= vy (OK) — — — —
HEMEAS 2" Ml () 1,960 % 1 2,210X 1 2,550% 1 2,810 1
IIRONES 600 700
SERERY (K) 3,570X 3 3,910X 4
SERERY (K) 3,570X 6 3,570X 6
FIAR L b (K) 2,210%12 2,720X 8
FIAR LV b (K) 2,210% 14 2,720 X 14
FIAR LV b (K) — 2,210X 9
oV v7 (k) 7,230X 1 7,650X 1
oV v7 (&) 7,480 X 2 7,910X 2
oV (K) 90X 2 180X 2
my N Y= vk () 1,700 X 4 1,700 X 4
HEXEAE ]2 My () 3,060X 1 3,490% 1
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258

53 (BN : 1 ARX nA)
IIRONES 200 250 300
AR L b () 1,530X 6 2,130X 6 2,130X 6
oV (K) 2,980 1 2,980 1 3,230% 1
my b Y= ¥y () 770X 2 1,110X 2 1,110X 2
HEMESS 2 Mty () 1,190 X 1 1,450 X 1 1,700X 1
IIRONES 350 400 450 500
FIAR LV b (K) 10, 200X 4 10, 200X 6 10, 200X 6 10, 200X 6
oV (K) 3,230% 1 3,230% 1 3,570X 1 3,570X 1
oV (K) 130X 4 130X 6 130X 6 130X 6
my b Y- ¥y () 1, 190X 2 1,190X 2 1,190X 2 1,190X 2
HEMER 2™ Ml () 1,960 % 1 2,210X 1 2,550% 1 2,810%X 1
IIRONES 600 700
SERERY (K) 3,570X 6 3,910X 6
FIAR LV b (K) 2,210 X 14 2,720 X 14
SEIRER Y (K) — —
oV 7 (k) 7,230X 1 7,650X 1
oV (K) 90X 2 150X 2
my b= ¥y () 1, 700X 2 1,700X 2
HEYEAE ]2 My (A) 3,060X 1 3,490% 1
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vy MiitkE (77 rE—L 3 =)

(BAZ - 1T A X n )

OV Bod=t"y b (fE) G ER -y (i) th=hyh-tTy b ()
200 22,400X 5 51,500X 2 22,500X 3
250 31,500X 5 87,000X 2 28,100X 3
300 31,500X 5 87,000X 2 28,100X 3
350 31,500X 4 112, 000X 2 36, 000X 3
400 31,500X 5 112, 000X 2 36, 000X 3
450 31,500X 6 112, 000X 2 36, 000X 3
500 31,500X 7 112, 000X 2 36, 000X 3
600 51, 700 X 11 97,500 X 2 —
700 51, 700 X 13 97,500 X 2 —
800 54, 000X 13 148, 000X 2 —
900 54, 000X 16 148, 000X 2 —
1000 74, 200 X 16 172,000 X 2 —
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T v v F — ) A — X — §ir 1 ¥
THRELS G B 2%
5% (HAL . [/ ARX nA)
IEOMEE jr250
SEIAERY (K) 2,040% 3
SEIAERY (K) —
AR L B () 1,790% 18
AR L b () 1, 790X 15
oV (K) 6, 800X 3
oV (K) 6, 040 X 1
oV (K) 1,330% 2
my N Y= vk () 1,110X 6
A (K) 130X 4
HEMESS FH 2 M () 1,450 X 1
453 353 (AL 1 /AKX nA)
IBRONES jr250
SEIAERY (K) 2,040% 3 2,040% 3
SEIAERY (K) — —
AR L B () 1, 790X 9 1,790X 9
AR L B () 1,790 X 12 1, 790X 6
oV (K) 6, 800X 2 6, 040 X 1
oV (K) 6, 040 X 1 1,330% 1
oV v7 (&) 1,330%X 0 130X 2
my N Y=n” vky () 1,110X 6 1, 110X 2
= Lt (B0 130X 4 130X 3
HEMERS FH 2™ Ml () 1,450 X 1 1,450 X 1
25y 7% (HAL . [/ ARX nA)
IBRONES jr250
SERHEXRY (K) —
SEREXRY (K) —
AR L B () 1,790X 6
oV (K) 6, 800X 1
oV 7 (K) —
my N Y=n vky () 1, 110X 2
=AM (K) 130X 2
HEESS FH 2 M () 1,450 X 1
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T v 7 )L — ) A — )N — « X — )X — jr T Ik
THRES G B0 2%
553 453 (BAL: [ /AKX nA)
IBRONES jr300
HEIAERY (K) 2,040%X 3 2,040%X 3
HEIHERY (K) — —
AR L b () 1,790 X 12 1, 790X 12
AR L B () 1,790% 18 1, 790X 12
oV 7 (k) 6, 380X 1 6, 380X 1
oV 7 (k) 6, 380X 3 6, 380X 2
oV 7 (k) 130X 4 130X 4
my b= vy (OR) 1,110X 4 1,110X 4
HEHEAS 2 MR (OR) 1,700% 1 1,700% 1
357 (AL [ /ARX nA)
PAGNES 3r300 jr350 jr400 jr450
HEIHERY (K) 2,040X 3 2,040X 4 2,380X 4 2,720X 4
HEIHERY (K) — — — 2, 720X 3
AR L B () 1, 790X 12 1,790 X 6 1, 790 X 10 1,790 X 14
AR L B () 1, 790X 6 1,790 X 4 1, 790X 6 2,210X 9
oV 7 (k) 6,380 %X 1 6,380 %X 1 6, 380X 1 6, 800X 1
oV 7 (k) 6, 380X 1 6,380 %X 1 6, 380X 1 6, 800X 1
oV 7 (k) 130X 4 130X 2 130X 2 130X 2
ny b Y- Ry (OK) 1, 110X 2 1,110X 4 1,110X 4 1,110X 4
HEHEARS 2 Ml (OR) 1,700X 1 1,960X 1 2,210X 1 2,550% 1
INAGN2S jr500 600 700 800
HEIHERY (K) 2,720X 4 3,570X 12 3,570X 6 3,910X 12
HEIAERY (K) 2,720X 3 — 3,910 X 4 —
AR L B () 1, 790 X 34 2,210X24 2,720 X 14 2, 720X 20
AR L B () — — 2,210X 8 —
oV 7 (k) 7,060X 1 7,480 X 1 7,650X 1 8,080 X 1
oV 7 (k) 7,060X 1 7,230X 1 7,910X 1 8,330%X 1
oV 7 (k) 130X 2 150X 2 150X 2 150X 2
my N Y= ¥y () 1,110X 4 1,700X 4 1,700X 4 1,700X 4
HEHEAS 2 Ml (OR) 2,810% 1 3,060X 1 3,490% 1 3,910X 1
BRONES 900 1000 1100 1200
HEIHERY (K) 3,910X 6 — 4,080 % 6 —
HEIHERY (K) 4,080 % 4 — — _
AR L b () 3, 230X 12 — 2, 720X 14 —
AR L b () 2,720X 8 — — —
oV 7 (k) 8,500 %X 1 — 9,350%X 1 —
oV 7 (k) 8, 760X 1 — — —
o7 (K) 150X 2 — 270X 2 —
my N Y= ¥y () 1,700X 4 — 3, 060X 2 —
eSS 2 MR OR) 4,340 % 1 — 5,190% 1 —
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247 (B : 1 /RX nA)
IEOVEE 300 350 400 450 500
FEHEXRY (R) — 2,040X 4 2,380X 4 — 2,720X 4
DEIRERY (R) — — — 2,040 % 3 —
REIARIL B () 1,790X 6 1,790X 6 1,790X10 1,790X 18 1,790X 16
oV 7 (K) 6,380 X 1 6,380 X 1 6,380 X 1 6,800X 1 7,060X 1
oV 7 (K) 130X 2 130X 2 130X 2 — 130X 2
ny b Y= gk () — 1,110x 2 1, 110X 2 1, 110X 2 1, 110X 2
HEMERS 2™ My (A%) 1, 700X 1 1,960X 1 2,210% 1 2,550 % 1 2,810% 1
IEOVEE 600 700 800 900
DEHEXRY (R) 3,570X 6 3,570X 6 3,910X 6 3,910X 6
DEIRERY (R) — — — —
WEARIL B () 2,210X 10 2,720 X 14 2,720 X 10 2,720 X 12
oV 7 (K) 7,480 X 1 7,650X 1 8, 080X 1 8, 500X 1
oV 7 (K) 150X 2 150X 2 150X 2 150X 2
ny b= vk () 1, 700X 2 1, 700X 2 1, 700X 2 1, 700X 2
HEMERS F2” My (%) 3,060X 1 3,490 X 1 3,910% 1 4,340 % 1
ISAONES 1000 1100 1200 1350 1500
DEHEXRY (R) 4,080X 6 — — — —
DEIRERY (R) — — — — —
REAR L () 2,720 X 14 — — — —
oV 7 (K) 8,930X 1 — — — —
oV 7 (K) 310X 2 — — — —
my N Y= yFy (AR) 3,060X 2 — — — —
HEMERS 2™ My (%) 4,760% 1 5,190 X 1 5,610X 1 6,040 X 1 6,460 X 1
BRAER Vb — — — 5,100X 4 5,100X 4
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7y v 7 v F — L =T N T I
VHRESD dn BLm 2R
353 (EAL: [ /AXnA)
& A o 600 700 800 900 1000
DERERY (R) 3,910X 6 3,910X 6 4,590 X 6 4,590 X 6 4,760% 7
DERERY (R) 3,910X 4 3,910X 4 4,080% 4 4,080% 4 4,080% 4
WOARL () 2, 720X 10 2, 720X 16 3,320X 12 3, 320X 16 3,320 X 24
oV 7 (K) 7,230X 1 7,650X 1 8,080% 1 8,500% 1 8,930% 1
oV 7 (K) 130X 2 130X 2 130X 2 130X 2 130X 2
oV 7 (K) 150X 2 150X 2 150X 2 150X 2 270X 2
oV 7 (K) 7,230X 1 7,650% 1 8,080% 1 8,500% 1 8,930% 1
my N V= Ry (AR) 1,700% 4 1,700X 4 1,700X 4 1,700X 4 3,060X 4
253 (EAL [ /AXnA)
. ot 600 700 800 900 1000
DERERY (R) 3,910X 6 3,910X 6 4,590 X 6 4,590 X 6 4,760% 7
DERERY (R) — — — — —
WOARL R () 2,720X 4 2,720 X 8 3,320X 6 3,320%X 8 3,320 %X 12
oV 7 (K) 7,230X 1 7,650% 1 8,080% 1 8,500% 1 8,930% 1
oV 7 (K) 130X 2 130X 2 130X 2 130X 2 130X 2
oV 7 (K) 150X 2 150X 2 150X 2 150X 2 270X 2
o7 (X) - — — — —
my N Y= ¥y (AR) 1,700% 2 1,700X 2 1,700X 2 1,700X 2 3,060X 2
AN ] (HAT JARX nA)
& B O 600 700
DERERY (R) 3,400X 4 3,910X 4
WOARL R () 2,720 X 6 2,720 X 8
OV (K) 7,230% 1 7,650X 1
HEMEAS 2 Ml () 3,060% 1 3,490 X 1
07 1) filAE 5 (AL [ /AXnA)
& B O 800 900 1000
DERERY (R) 4,080 %X 4 4,080 %X 4 4,080 %X 4
WOARL K () 3,320X 6 3,320%X 8 3,320 %X 12
oV 7 (&) 8,080 % 1 8,500 % 1 8,930% 1
ny N Y= ¥y () 1,700% 2 1,700X 2 3,060X 2
HEMERS 2 Ml () 3,910% 1 4,340 % 1 4,760% 1
vy N EALE
(EA [ EX nfil )
RGeS 600 700 800 900 1000
Fyp-ty b () 51, 700X 15 54, 000 X 16 54, 000 X 16 74,200 X 16 74, 200 X 21
ShEN -t b (f#) 97,500 X 6 148,500 X 6 148,000 X 6 172,000 X 6 172,000 X 6

26




7 v v ' — )V T i
THFETE 5h AT R

5453 (B 1 ARX nA)

IOV V200 V250 V300 V350 V400
SEIMERY (OK) — — — 2,040X 3 2,040X 3
REAR L R () 940 X 12 940 X 12 1,530x12 1,790X 9 1,790% 9
AR L & () 1, 280X 20 1, 280X 28 1,280%X16 2,130 %X 12 2, 130X 12
REAR L R () — — 1, 360X 10 — —
DEIRERY (K) — — 1,360X 3 — —
oV 7 (K) 1,020% 1 1,020% 1 1,360X 1 1,190X% 1 1,280% 1
oV 7 () 2,720X 3 2,720X 3 2,980X 1 2,980X 1 2,980X 1
oV 7 (K) 130X 8 130X 8 2,980X 1 2,980% 1 3,230% 1
o7 (K) - — 130X 2 — —
o7 (K) - — 130X 1 — —
ny N V= ks (OR) — — 770X 4 1,110X 4 1,110X 4
ny N V= ks (OR) — — 770X 2 1,110X 2 1,110X 2
HEES H 2™ b () 680X 1 850X 1 1,190% 1 1,450% 1 1,700X 1
457 E| (BN 1 ARX nA)

IOV V200 V250 V450 V500
SEIMERY (OK) — — 2,040X 3 2,040X 3
AR L & () 940 X 12 940 X 12 1,790x12 1,790x12
AR L & () 1, 280X 20 1, 280X 28 1,280%4 1,280 X6
oV 7 (K) 1,020% 1 1,020% 1 1,020% 1 1,020% 1
oV 7 (K) 2,720X 3 2,720X 3 2,720X 2 2,720X 2
OV () 130x 8 130X 8 130X 1 130X 1
oV rv7 (K) — — 130X 4 130X 6
LR A E G| — — 1,110X 2 1,110X 2
HEES H 2™ b () 680X 1 850X 1 1,960 X 1 2,210X 1
35 E (A7 : 1 EXnA)

ROV V300 V350 V400 V450 V500
AR L & () 1,530X 6 2,130X 6 2,130X 6 10, 200 X 4 10, 200X 6
AR L & () 1, 360X 10 — — — —
o7 () 1,360X 1 1,190X% 1 1,280 1 2,980 1 2,980 1
oV 7 (K) 2,980 %X 1 — — 130X 2 130X 2
oV 7 (K) 2,980 %X 1 2,980 1 3,230X 1 — —
ny N V= ks (OR) 770X 2 1,110X 2 1,110X 2 1,190 X 2 1,190 X 2
HEMES 2" b () 1,190% 1 1,450% 1 1,700X 1 1,960 X 1 2,210 1
255 (BN 11 /ARX nA)

IOV V200 V250 V300 V350 V400 V450 V500
REAR L R () 1,280%X 6 1,280X 6 1,530X 6 2,130X 6 2,130X 6 10, 200 X 4 10, 200X 6
oV 7 () 2,720X 1 2,720X 1 2,980X 1 2,980 X 1 3,230 1 3,230% 1 3,230% 1
oV 7 (K) 130X 2 130X 2 — 2,980 X 2 — — —
ny N V= vty (OR) — — 770X 2 — 1,110X 2 1,190 X 2 1,190 X 2
HEMES H 2™ b () 680X 1 940X 1 1,190% 1 1,450% 1 1,700X 1 1,960 X 1 2,210X 1

vy b EAE
(AL [ X n &)

IOV V200 V250 V300 V350 V400 V450 V500
hys-t b (f#) 20, 250X 4 20, 250X 6 22,500X 5 31,500%X 5 31,500X 5 31,500 X 4 31,500X 5
SLENy Iy b (f#) 46, 500X 4 46, 500X 4 51,750 X 2 87, 000X 2 87,000X 2 | 112,000X 2 [ 112,000% 2
Tp=pyh-t"y b () — — 22,500X 3 28,100X 3 28,100X 3 36, 000X 3 36, 000X 3
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SRR N ST 7 = S 1

O kg4 v 14549 (9. 5ke) 1m®24 v {1 &
Tty ) 1, 780 16, 9104 127ke

28




A2t /EXHREIH

A T160-0004 REHERTHIRITHEI-8 HKRIAZ2=T(EL
TEL. (03)5786—9211

BFEXIE  T541-0047 KR REHEEET1-4-9 TPRILEE )L
TEL. (06)6232—7777




